
Log(tau) vs T (0.13-0.25)
Swapping rate w_max = 10^3
L = 50, ap=2, phiv = 0.01
Without Normalization
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Log(tau) vs T (0.13-0.5)
Swapping rate w_max = 10^4
L = 50, ap=2, phiv = 0.01
Without Normalization
Using the new SIF coding by 
Anakin
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• What I did this week

• I tried to change the swap rate and use the new SIF MATLAB file to calculate
relaxation time and increased the tau difference to 10^2

• Next week

• I will try to make the temperature lower, hopefully to 0.12, to enlarge the 
difference.


